FRI5FE
B L CIEH KB,
i gy DILE - COD¥ R |B(H#m) I TEE (TEBEX)
} St.1 |22 3 - SRR I BN ) KBRS EE ()
—iRIEE _
Kig (°C)
XiE_[SE(C) =RE P E 2KE il iR =Xz R
5A| EVE4™m| 232 27.1 27.3 8.5 4.5 BE k| &S
7B|2ves<En| 256 24.0 24.2 115 35 BE ZkE-mh me
98 BEh 29.9 29.1 28.5 10.5 3.0 BE - mR
18] Bh 22.4 22.9 22.9 6.5 2.5 BE ZkE-mh mR
18 BEh 15.9 15.1 15.2 11.0 8.0 BE xE-h mR
3Al =Y 8.0 12.5 12.2 12.0 4.0 k) - G
4FRRIFIER
oH DO COD |XBEHE |h-~FHUH 2% EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥I & (me/l)]  (mg/I) (mg/1)
RElE| 1.8~83] 5.0LLE | 30LLF — R H 0.6LLF | 0.05LLF
EHIE(75%1E) - 7.2 1.9(2.4) - <0.5 1.3 0.042
55 == 8.1 6.5 2.4 - <0.5 0.77 0.044
IE 8.3 7.8 1.8 - - - -
78 EAE 8.2 7.6 3.1 - <0.5 3.7 0.072
IE 8.2 7.8 1.8 - - - -
of EAE 8.2 7.5 15 - <0.5 - -
IE 8.2 7.2 1.9 - - - -
118 == 7.9 7.4 15 - <0.5 0.43 0.033
IE 7.9 7.3 2.4 - - - -
1A EAE 8.2 7.2 1.1 - <0.5 0.28 0.020
IE 8.2 8.0 2.4 - - - -
3H EAC 8.1 5.8 2.1 - <0.5 - -
B 8.0 5.8 1.2 - - - -
BEIEE (REDHEHAD
ISP INESS E N[ 7= VN IR £ ke |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#EfE] 0.01LLF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | JE#EH JEHRH |
E <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 = =
58 - - - - - - - -
78] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
98 - - - - - - - -
118 - - - - - - - -
1B] <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
38 - - - - - - - -
ynni| migke [1,2-0900( 1,1-C4an [ zx-1,2-4(1,1,1-F)40] 1,1,2-ry4a | FJo0A
a2 o IAaY IFLY | AaxTFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF
I <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




Fr3o00a(1,3->50 = R FrAAY v, 45 . EREERRU
TI?"/‘J I:I7I:I/\°> 7’"77.1-\ V8725 jJ}l/j oty 2 4 P iiﬁ&ﬁ;%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 1.9
5H - - - - - - - -
78 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 3.6
9H - - - - - - - -
118 - - - - - - - -
18 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.21
3H — — — - - - - -
ZNDhIEE
Jz/—1 i SS 2EH |(yookns 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
RE - - 3 - - -
5ﬁ ;E _ _ -I — _ —
z - - 5 - - -
7R ; E — — ] — — —
=] _ _ 1 _ _ _
9H oh B — — % — — —
RE - = 2 - - -
"MA —ag - - = - - -
EY ] - - < - - -
Ao |- - G - - -
=E - - 1 - - -
3H g - - < - — —
Bty | =Y . .
(mg/1) (mg/1) (mg/1)
SEI9TE| 17000 0.03 0.04
58 E3E] 16000 - 0.03
B 18000 - -
78 =E 7300 0.02 0.07
th B 18000 - -
9K AL 17000 - -
B 18000 - -
118 AL 17000 - 0.03
B 18000 - -
18 AL 17000 0.03 0.02
B 18000 - -
35 xE 17000 - -
i 18000 - -



FRISFE

B L CIE DK,
S 5 Ty 8 mE — COD#%! |B(##Bh=) MILTEE(TEEARK)
i St.2 |- PR m(RER) REKEREEE (/)
—iRIEE _
K& (°C)
XiE_[SE(C) =RE e 2KE 75 B FE T =X 2=
5Al Y4/ | 232 26.9 — 17.0 9.0 BE k- &S
78|28V cmiEn| 256 24.2 - 15.5 4.0 BE R - me
98 BEh 29.6 28.0 — 16.5 8.0 BE k| &R
118 BEh 22.0 225 — 16.5 6.0 BE xE-h mR
18 BEh 15.8 15.0 — 16.5 8.0 BE xE-h mR
3Al =Y 8.0 12.0 - 18.0 6.0 k) & - G
4FRRIFIER
oH DO COD |XBEHE |h-~FHUH 2L=H Ex ]
ET (mg/1) (mg/1) | (MPN/100ml) | ¥ & (me/1)]  (mg/I) (mg/1)
#{E] 7.8~8.3| 5.0LLEF 30LLF - JEtRH 0.6LLF | 0.05LLF
EE(75%1E) - 7.8 1.2(1.5) - <0.5 0.21 0.019
58 == 8.3 7.8 0.7 - <05 0.25 0.015
hE - - - - - - -
78 == 8.2 7.3 15 - <0.5 0.20 0.019
hE - - - - - - -
oF == 8.2 6.7 1.3 - <0.5 0.08 0.007
hE - - - - - - -
118 §J§ 8.0 7.8 1.6 - <0.5 0.25 0.021
E - - - - - - -
1A == 8.2 8.2 0.9 - <0.5 0.26 0.023
hE - - - - - - -
3H == 8.1 8.7 0.9 - <0.5 0.19 0.031
e - - - - - - -
BEIEE (REDHEHAD
IS INESS ) ANfvoL| ME #ikeE |7ZrxkE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#fE] 001LLF | JE#H | 0018 F | 0.05LLF | 0.01LLF [0.0005LLF | FERH JERRH |
:F _ _ — — — — — —
58 - - - - - - - -
718 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3R - - - - - - - -
ynni| migke [1,2-0900( 1,1-C4an [ z-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
2 b 3 IR IFLY AAxIFLY axTAay aoxT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
:F _ _ — — — — — —
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -




Fr3908[1,3-S40 = . oy ~2 v s R
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| FL{E] 0.01LLF | 000280 F | 0.006LLF | 0.003LLTF [ 0.02LLF | 0.01LLF | 0.01LLF 10LLF
SF — — — — — — — —
5H - - - - - - - -
18 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3A - - - - - - - -
ZDHMIEE
Jx/—)L V) SS 2mR |soofns| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHEl - - i - - -
RE - - <1 - - -
5ﬁ ;E _ _ _ _ _ —
=] — — 1 — — —
e e e s s
g - - < - - -
R e e et e
g - - < - - -
1 1 ﬁ ;E _ _ _ _ - —
= - - <1 - - -
e L s s s
= - - <1 - - -
3A i — — - — - -
Bl | BEEE | omwene
(mg/1) (mg/1) (mg/1)
ESIE] 18000 - 0.02
5H &E | 18000 - <0.01
E | 18000 - <0.01
® | 18000 - -
E | 18000 - 0.02
"R Tam - - -
' ®E | 17000 - 0.02
= 18000 - -
3A i — — —




FRISEE

B L CIE DK,
S T4 EiEsE - COD#EH |A(E#ER) ML TEE (DD RXIE)
i St.3 |- SR 1 GEEIR) RKEREEE (Z)
—iRIEE _
K= (°C)
XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
5Al Y4/ | 232 25.5 25.4 23.0 10.0 BE k- &S
78| EvesciEn| 257 23.6 23.5 20.0 4.5 BE ZkE-mh me
98 BEh 31.0 28.0 27.9 17.5 9.0 BE xE-h mR
118 BEh 19.2 22.1 22.0 17.0 6.0 BE e mR
18 BEh 14.1 14.7 14.6 16.5 8.0 BE xE-h mR
3Al =Y 1.5 11.3 10.8 18.0 5.0 B - G
4FRRIFIER
oH DO COD |XBEHE |h-~FHUH 2% EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥I & (me/l)]  (mg/I) (mg/1)
= %(8| 7.8~83] 75LLE | 20LLF | 1000LLF | JEMRtH 0.3LLF | 0.03LLF
EE(75%1E) - 7.3 1.4(1.7) 0.0 <0.5 0.19 0.011
58 == 8.3 7.6 1.8 - <05 0.16 0.007
IE 8.3 75 15 - - - -
718 == 8.3 7.2 1.8 0.0 <0.5 0.10 0.008
IE 8.2 7.1 0.6 - - - -
oF == 8.2 6.9 1.6 - <0.5 - -
GIE 8.2 6.8 1.8 - - - -
115 == 8.0 7.8 1.4 - <0.5 0.27 0.014
IE 8.0 8.0 1.0 - - - -
1A == 8.2 7.8 0.7 0.0 <0.5 0.24 0.015
GIE 8.2 6.8 15 - - - -
3H == 8.1 7.2 1.3 - <0.5 - -
B 8.1 6.7 1.7 - - - -
BEIEE (REDHEHAD
ARSHL [ 217V & ANE/RL|  #HFE fikéR |7o*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH JERRH |
E <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
58 - - - - - - - -
78| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
38 - - - - - - - -
yOni| migke [1,2-0900( 1,1-C4an [ zx-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | FJo0A
a2 o IRy IFLY |BoaIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




Fr3o00a(1,3->50 = R FrAY o, 45 . EREERRU
TI?"/‘J oAy 7’"77.1-\ v jJ}l/j 0L A 2 4 P iiﬁ&ﬁ;%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.08
5H - - - - - - - -
78 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
9H - - - - - - - -
118 - - - - - - - -
18 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.14
3H - - - - - — — -
ZTNDIEE
Ix/—) & SS 2@ |yookiLL 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - - 1 - - -
=W | - - i - - -
5H th 8 — — 7 — — —
=B - - <1 - - -
7R th — — 7 — — —
=8 | - - 1 - - -
9H ; E — — ] — — —
E - - <1 - - -
1A —ag - - < - - -
=E - - <1 - - -
Ao |- - G - - -
=E - - <1 - - -
3A /g — — < — — —
Rt | EHEERY . .
(mg/1) (mg/1) (mg/1)
EBIE|] 18000 0.02 0.01
58 E3E] 19000 - <0.01
B 19000 — -
78 AL 18000 <0.01 <0.01
th B 18000 — -
9K AL 18000 — -
B 18000 — -
118 AL 18000 - 0.01
B 18000 — -
18 AL 18000 0.03 0.01
B 18000 — -
35 xE 18000 — -
i | 18000 - -



FRISEE

B LTI HKE,
S 5 Ty B mE — COD#EE! |A(##BrIA) ML TR (ZOHMOXE)
i St.4 |- SR 1 GEEIR) REKEREEE ()
—iRIEE _
Kig (°C)
XiE_[SE(C) =RE e 2KE 75 B FE TR =X 2=
5Al Y4/ | 232 24.6 24.7 32.0 11.0 BE k- &S
7Bl2vs4cEn| 249 23.3 23.1 31.0 55 BE xE-h me
98 Bh 28.8 28.0 27.8 29.5 11.0 BE xE-h mR
118 Bh 18.5 22.0 22.1 31.0 6.5 BE e mR
18 BEh 14.0 14.7 145 26.5 10.0 BE xE-h mR
3l =Y 8.0 10.6 10.3 25.0 9.0 EE fRea-h | HER
4FRRIFIER
H DO COD |XBEHE |h-~FHUH 2% EX ]
° (mg/1) (mg/) | (MPN/100mD) | (me/D]  (mg/l) | (mg/l)
EE(E| 78~83] 755 F | 20LLF | 1000LLF | JEEH 0.3LLF | 0.03LLF
EHIE(75%1E) - 7.4 1.5(2.0) - <0.5 0.16 0.013
58 == 8.3 74 1.1 - <05 0.16 0.008
IE 8.3 7.2 2.0 - - - -
78 == 8.2 75 2.2 - <0.5 0.10 0.010
IE 8.2 7.3 1.4 - - - -
oF == 8.2 7.0 2.0 - <0.5 - -
GIE 8.2 6.8 1.3 - - - -
115 == 8.0 8.0 1.0 - <0.5 0.15 0.018
IE 7.9 8.1 1.6 - - - -
1A == 8.2 6.4 0.6 - <0.5 0.23 0.016
GIE 8.2 8.2 15 - - - -
3H == 8.1 5.9 2.0 - <0.5 - -
B 8.1 8.7 1.7 - - - -
BERIEE (REDHEHAD
ARSHL [ 217V & ANE/RL|  #HFE fikéR |7o*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
:F _ _ — — — — — —
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
oOni| migke [1,2-0900( 1,1-C4an [ zx-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | FJo0A
a2 o IAaY IFLY | AaxTFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
S'Z - - - - - - - -
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -




Fh5400(1,3->4n0 — . s N2 N
: (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
£:F=E> {E] 0.01LLF | 0.002LLF [ 0.006 LF | 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
i - - - - - -
718 - - - - - - - -
9A - - - - - - - -
118 - — - - — - - -
1Al - - - - - - - -
3R - - - - - - - -
ZDHhIFE
— HRIL L
Jz/—) fR SS ZE®R |JOAKRLL| 5
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
“ TR - - 1 : : -
RE - - <1 - - -
5R ; E — — < — — —
=] _ _ 1 _ _ _
78 ; E — — % — — —
= - - 4 - - -
9AR ; E — — < — — —
= - - 4 - - -
1A ; E — — < — - -
= - - 4 - - -
= - - 4 - - -
3R g - — > — — —
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
EBIE|_18000 - 0.01
5H =B 19000 - <0.01
h[E 19000 - -
785 =B 18000 - <0.01
hE 18000 - -
oF =B 18000 - -
h[E 18000 - -
1B =B 18000 - 0.01
hE 18000 - -
18 =B 18000 - 0.01
hE 18000 - -
35 =B 18000 - -
B 18000 - -



FRISEE

B L CIEH KB,
S TiEH B - COD¥# R |B(E¥R) MILTERE(FHER)
) St.5 EFR-SEY I EHEDR) HRAKCEREREE (/1))
—iRIEE _
Kig (°C)
XiE_[SE(C) =RE P E 2KE il iR =Xz R
5A| EYE4m ]| 23.0 30.2 23.8 8.5 >8.5 BE k- &S
7B|2vescEn| 249 26.0 25.0 12.0 4.0 BE ZkE-mh me
9B8| BEh 31.4 34.8 29.7 75 >1.5 BE ZkE-mh mR
118 BEh 18.4 24.6 23.4 10.0 6.0 BE e mR
18] Bh 12.9 21.0 15.8 8.5 7.0 BE ZkE-mh mR
3Al =Y 7.2 154 11.8 11.0 6.0 B - G
4FRIFIER
oH DO COD |XBEHE |h-~FHUH 2% EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥I & (me/l)]  (mg/I) (mg/1)
RElE| 1.8~83] 5.0LLE | 30LLF — R H 0.6LLF | 0.05LLF
EHIE(75%1E) - 6.9 2.0(2.0) - <0.5 4.6 0.026
55 == 8.2 6.2 2.3 - <0.5 74 0.021
th B 8.3 7.1 1.2 - - - -
78 EAE 8.3 6.5 2.2 - <0.5 2.6 0.030
IE 8.2 7.0 15 - - - -
of EAE 8.0 5.0 3.9 - <0.5 - -
IE 8.3 6.4 1.9 - - - -
118 == 7.9 7.4 1.9 - <0.5 2.7 0.032
th B 7.9 6.6 2.0 - - - -
1A EAE 8.0 6.3 1.9 - <0.5 5.7 0.021
IE 8.2 8.0 15 - - - -
35 EAC 8.0 7.9 1.8 - <0.5 - -
th 8.1 8.4 1.3 - - - -
BEIEE (REDHEHAD
ISP INESS E N[ 7= VN IR £ ke |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#EfE] 0.01LLF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | JE#EH JEHRH |
E <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 = =
58 - - - - - - - -
78] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
98 - - - - - - - -
118 - - - - - - - -
1B] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
ynni| mige [1,2-0900( 1,1-C4an [ z-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
) o IRy IFLY |BoaIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006LLF | 0.03LL'F
I <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
98 - - - - - - - -
118 - - - - - - - -
1B] <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




Fr3o00a(1,3->50 = R FrAY oo, 45 . EREERRU
TI?"/‘J oAy 7’"77.1-\ v jJ)l/j oty 2 4 P iiﬁ&ﬁ;%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.53
5H - - - - - - - -
78 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.24
9H - - - - - - - -
118 - - - - - - - -
18 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.81
3H - - - - - — — -
ZTNDIEE
Ix/—) & SS 2@ |yookiLL 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
=R | - - 1 - - -
5ﬁ ;E _ _ -I _ — —
= - - 2 - - -
7R ; E — — 1 — — —
=] _ _ 1 _ _ _
9H th — — 7 — — —
=B - - <1 - - -
11 H I:I:l E _ _ e — — —
=E - - <1 - - -
Ao |- - G - - -
=E - - <1 - - -
3
A /g — — ] — — —
(4] BN . .
(mg/1) (mg/1) (mg/1)
EBIE| 17000 0.13 0.02
58 E3E] 16000 - <0.01
B 18000 — -
78 AL 17000 0.05 0.02
th B 18000 — -
9K AL 15000 — -
B 17000 — -
118 AL 16000 - 0.03
B 18000 — -
18 AL 16000 0.21 0.02
B 18000 — -
35 xE 17000 — -
i | 18000 - -



FRISEE

B L CIE DK,
S i Ty B mE — COD#EE! | A(#HBIA) ML TEE (ZOMOXE)
) St.6 EFR-SHEE I ER) RFEKEREEE (V)
—iRIEE _
K& (°C)
XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
5A| EYE4m ]| 23.0 23.5 — 16.5 10.0 BE k- &S
78|82 cin| 250 23.4 - 11.0 4.0 BE R - me
98 Bh 31.0 29.0 — 12.0 10.5 BE xE-h mR
18] Bh 18.5 22.8 - 9.5 5.5 BE ZkE-mh mR
18 BEh 13.0 15.3 — 10.5 7.0 BE xE-h mR
3Al =Y 7.2 11.8 - 10.0 6.5 B - G
4FRRIFIER
oH DO COD |XBEHE |h-~FHUH 2% EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥I & (me/l)]  (mg/I) (mg/1)
EEME| 78~83] 755 FE | 20LLF | 1000LLF | JEEH 0.6LLF | 0.05LLF
EE(75%1E) - 7.3 1.3(1.3) - <0.5 0.39 0.011
58 == 8.2 7.3 1.2 - <05 0.11 0.008
hE - - - - - - -
78 == 8.3 7.1 1.0 - <0.5 0.17 0.009
= 8.2 6.8 1.8 - <0.5 - -
SR hE - - - - - - -
118 == 7.9 6.6 1.2 - <0.5 0.61 0.013
hE - - - - - - -
1A == 8.2 7.6 1.1 - <0.5 0.65 0.014
= 8.1 8.5 1.3 - <0.5 - -
3R i = - = — — — —
BEIEE (REDHEHAD
ARSHL [ 227V ) ANfivoL| HE #ixksE [7rxrkéR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
:F _ _ — — — — — —
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
ynni| mige [1,2-0900( 1,1-C4an [ z-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
) o IRy IFLY |BoaIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
S'Z - - - - - - - -
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -




TRIORRILETE Fosa | vevy | TATY | xvey | wuy |MEERERS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| BBl 0.01LLF [0.00254F [ 0.006LLF [ 0.003LLF [ 0.025F [ 0.01LLF [ 0.01LLF [ 10LF
SF - - — — — — — —
5H - - - - - - - -
1H - - - - - - - -
9A - - - - - - - -
115 - - - - - - - -
1A - - - - - - - -
38 - - - - - - - =
ZOHIER
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FHEl - - i - - -
=E - - i - - -
5ﬁ ;E _ _ _ — — —
B — — 1 — — —
e . e
B — — 1 — — —
e e B s B s B
= - - <1 - - -
P B B e
= - - <1 - - -
e e e
= - - <1 - - -
A g - - : - - -
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
EHIE] 18000 — 0.01
5A =E 19000 - <0.01
= 18000 - <0.01
1H ; E — - ~
= 18000 - -
9A ; E — - =
= 18000 - 0.01
1A S - = =
‘A =E 18000 - 0.01
= 18000 - -
3A o 0 - -



TR ISERE
B L CIE DK,
S i Ty B mE - COD#EE! |B(H#H) ML TEEWEEERX)
) St.7 [E&-BER D GRS REKEEEEE (V)
—RIEE _
KR (°C)

XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
5A|EYE4/m| 228 234 - 15.5 10.0 BE |HER-p| EE
78|82 cin| 250 23.4 - 14.0 4.0 BE R - me
98 BEh 30.7 28.7 — 14.0 8.0 BE xB-mh mR
118 BEh 18.0 22.4 — 115 6.0 BE xEB-mh mR
1H BEh 13.5 14.7 — 11.0 7.0 BE xEB-mh mR
3Al =Y 7.2 12.0 - 15.0 6.0 B - G

4FRRIFIER
oH DO COD |XBEHE |h-~FHUH 2% EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥I & (me/l)]  (mg/I) (mg/1)

RElE| 1.8~83] 5.0LLE | 30LLF — R 0.6LLF | 0.05LLF

EE(75%1E) — 7.5 1.4(1.5) - <0.5 0.21 0.014

58 =E 8.3 74 1.4 - <05 0.11 0.009
hE - - - - - - -

78 == 8.2 7.3 2.1 - <0.5 0.12 0.010
= 8.2 6.7 15 - <0.5 - -

118 == 8.0 6.6 0.8 - <0.5 0.29 0.014

hE - - - - - - -

1A == 8.2 8.1 1.1 - <0.5 0.31 0.021

= 8.1 8.9 1.2 - <0.5 - -

3A i = - - — — — —
BEIEE (REDHEHAD

ISP INESS E N[ 7= VN IR £ kR |7LxLkiR| PCB

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)

| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH JERRH |
E <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
58 - - - - - - - -
78] <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
38 - - - - - - - -

vonni | mie [1,2-0900(1,1-SHan [L2-1.2-24(1,1,1-k)90( 112-kyoa | FUo0OA

Ay ot Iy IFLY |[AxFLy | ATAY OT4y IFLY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)

| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF

E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




FhS00(1,3-40 — N FAAY N R
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF | 0.006 LF [ 0.003LLF | 0.02LLF | 0.01LLF 0.01LLF 10ELF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.10
5H - - - - - - - -
78 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.07
9H - - - - - - - -
115 - - - - - - - -
18 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.13
3H - — — — - - - -
ZTNDIEE
Ix/—) & SS 2EH |(yookns 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - - 1 - - -
ET - - 1 - - -
=] _ _ 2 _ _ _
=] _ _ 1 _ _ _
i —— G : : -
=] - - <1 - - -
1A ; E — — — ~ _ _
=] - - <1 - - -
=] - - <1 - - -
A —HE - - . - - -
(4] BN . .
(mg/1) (mg/1) (mg/1)
EBIE|] 18000 0.02 0.01
58 E3E] 19000 - <0.01
/g - - -
78 AL 18000 <0.01 <0.01
= 18000 - -
9AH ; E — — —
= 18000 - 0.01
118 th — — =
18 AL 18000 0.03 0.02
= 18000 - -
3H B 0 - -



FRI5FE
B L CIEHKE,
TiEYEESE ] pi- Y} | ;A O
o2 . COD#EE! |A(H#ER) ’E‘EEHZ)"I
St.8 EFR-SEY I EHEDR) RRKEREESE (V)
—RIEE _
Kig (°C)
XiE_[SE(C) =RE e 2KE il iR =Xz R
5Al Y4/ | 232 23.9 — 4.5 >4.5 BE k| &S
78|28V cmiEn| 248 22.9 - 4.5 1.0 BE BEikf-h| &S
9B8| mBEh 30.6 29.5 — 3.5 >3.5 BE BEikf-p| &S
18] Bh 18.3 19.0 - 3.5 >3.5 BE &E-% mR
18] Bh 13.7 11.6 - 3.5 >3.5 BE ZkE-mh mR
3l =Y 8.0 8.6 - 35 >3.5 EE fRea-h | R
4FRRIFIER
oH DO COD |XBEHHE |h-~FH UM 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥I & (me/l)]  (mg/I) (mg/1)
= %(8| 7.8~83] 75LLE | 20LLF | 100051 F | JE4RiH 0.6LLF | 0.05LLF
EE(75%1E) - 8.3 1.8(2.2) 3600 <0.5 0.71 0.029
55 == 8.2 7.6 1.8 - <0.5 0.57 0.032
hE - - - - - - -
78 EAE 7.8 7.6 1.6 1700 <0.5 0.51 0.035
= 8.1 6.6 2.5 - <0.5 - -
SR hE - - - - - - -
118 EAE 7.8 7.6 1.8 - <0.5 0.89 0.029
hE - - - - - - -
1A == 7.8 9.3 0.9 5400 <0.5 0.86 0.018
= 7.7 11 2.2 - <0.5 - -
38 i = — = — — — —
BEIEE (REDHEHAD
ARSHL [ 227V E N[ 7= VN R £ kg |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#EfE] 0.01LLF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | JE#EH JEHRH |
E <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 = =
58 - - - - - - - -
78] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
98 - - - - - - - -
118 - - - - - - - -
1B] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
onni| migke [1,2-0900( 1,1-C4an [ z-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
Ay ot Iy IFLY |[AxFLy | ATAY OT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF
I <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




Fr>o0nR(1,.3->4n — s s, | FAARL v ase .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.01LLF [0.00280F [ 0.006LLF [ 0.003LLF | 0.02LLF [ 001LLF | 0.01LLF 10LLF
E <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.79
5H - - - - - - - -
7H] <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.75
9H - - - - - - - -
118 - - - - - - - -
1H] <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.82
3H - - - - - - - -
ZTDMIER
Jr/—L| 8@ SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE = - 2 - - -
RE - - 2 - - -
B — — 5 — — —
B — — 2 — — —
e e o :
=] — — <1 - - -
=] — — <1 - - -
B — — 1 — — —
3H g — — — — — —
Bty | EHEEMY . .
(mg/1) (mg/1) (mg/1)
SFﬁﬂI_E 6300 0.02 0.02
58 xE 8100 - 0.02
/g - - -
78 xE 5700 0.01 0.03
= 12000 - -
9H ; E
= 7000 - 0.02
1A th — — =
18 RE 4300 0.02 0.01
= 920 - -
3H g = — —



